Dugopolski's Precalculus Functions and Graphs 1
Chapter 1 Test -- Form A Name:

Find all real or imaginary solutionsto each equation.

L 2(z—6) =21 2. 4+4=0

1 2

3 s+ 1= —5 4. 32'+3=10z
3 4.

Solve each inequality in one variable. State the solution set using interval notation and graph
it on the number line.

5. 4-32<10 6.  32zx+1| >3

5. 6.

Sketch the graph of each equation in the xy-coor dinate system.

7. 2z — b5y =10 8. r? 4yt =dx

Solve each problem.
0. Find the slope of the line that goes through (2, 5) and (—1, 2).
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2 Form 1A

10. Find the slope-intercept form of the equation of the line that goes through (3, —1) and is
perpendicular to theliney = 2z — 4.

10.

11.  Find the exact distance between ( — 3, 4) and (2, 1).

11.

12. How many liters of water must be added to 30 liters of a 20% alcohol solution to diluteit to
a 15% solution?

12.

13. A rectangle has two sides of length 5 inches and a diagonal which is one inch longer than
the length of the other two sides. Find the length of the diagonal.

13.

14.  Solvei +2=¢ fora.

14.

15. Find the value of the discriminant for 22 + 6z +9 = 0. How many real solutions are
there for this equation?

15.

Perform the indicated operations and write the answer in theform a + bi, wherea and b are
real.
16. (34 2i)° 17. % —i?

16. 17.
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Dugopolski's Precalculus Functions and Graphs
Chapter 1 Test -- Form B Name:

Find all real or imaginary solutionsto each equation.

1L =X 2. 2°48=0
1 2.

3. 27° = 32 4, 62> — 6 = bz
3. 4,

Solve each inequality. Statethe solution set using interval notation and graph it.

5. 1—-4x <5 6. 15— x| <2

S. 6.

Sketch the graph of each equation.

7. 3 — 4y =12 8. 2? +1y? = 6y

Solve each problem.

0. Find the slope of the line that goes through (3, 1) and (4, —2).
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4 Form 1B

10. Find the slope-intercept form of the equation of the line that goes through (4, —2) and is
perpendicular totheliney = 1z — 4.

10.
11.  Find the exact distance between ( — 2, 5) and (4, 12).

11.

12. How much water must be added to 20 quarts of a 12% alcohol solution to dilute it to a 9%
solution?

12.

13. A rectangle has alength which is one unit longer than its width. If each side of the
rectangle isincreased by one unit, then the areaisincreased by 10 square units. What were
the origina dimensions of the rectangle?

13.

14.  Solvex = +2fory.

14.

15. Find the value of the discriminant for 22 + 62 + 9 = 0. How many real solutions are
there for this equation?

15.

Perform theindicated operations and writethe answersin theform a + bi, wherea and b are
real.

16.  i(v/ —4+3) 7. % —i%

16. 17.
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Dugopolski's Precalculus Functions and Graphs
Chapter 1 Test -- Form C Name:

Find all real or imaginary solutionsto each equation.

1. s(x+3)=2z+1 2. lz+2| =5

1 2.

3. 2+l _ w45 4. 622—Tzr—=3
x—3 r—3

3. 4.

Solve each inequality. Statethe solution set using interval notation and graph it.

5. 3—Zx> -1 6. 22 —1]—2>3

Sketch the graph of each equation.

7. 2z=5-y 8. (z+2)° +1> =8y

Solve each problem.
0. Find the slope of the line that goesthrough ( — 2, — 1) and (3, 1).

0.
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6 Form 1C

10. Find the slope-intercept form of the equatlon of the line that goes through ( — 5,2) and is

perpendicular to theliney = — %x — 5

11.  Find the exact distance between (4, 1) and (-6, 3).

11.

12. How many liters of a40% acid solution must be mixed with 10 liters of a 10% acid
solution in order to end up with a 20% acid solution?

12.

13. A pair of jeans costs $23.54 after taxes. If the price tag on the jeans reads $22.00, what is
the tax rate?

13.

14.  Solve3(b—a) + 5= 252 forb.

14.

15. Find the value of the discriminant for 522 + 9 = 0. How many real solutions are there for
this equation?

15.

Perform the indicated operations and write the answer in theform a + bi, wherea and b are
real.

6. 3o 7.V =3(V =27+ V)

16. 17.
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Dugopolski's Precalculus Functions and Graphs
Chapter 1 Test -- Form D Name:

Find all real and imaginary solutionsto each equation.

1. 2 +5x =2 2. 3z +4|+2=5
1 2.

3 +T7x+9=0 4. 3(z*—4)=6
3. 4,

Solve each inequality. Statethe solution set using interval notation and graph it.

5.

Fyy.
8
+

wino
AV

6. 3—|z+3/>1

DN [—=

S. 6.

Sketch the graph of each equation.

7. 2z=4y—6 8. 24+ (y+1)° =4z

Solve each problem.
9. Find the slope of the line that goes through (2, 1) and (— 3, — 1).
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8 Form 1D

10. Find the slope-intercept form of the equatlon of the line that goes through (2, — 3) andis
5

perpendicular totheliney = — Sr — Z

10.

11.  Find the exact distance between (3, —2)and ( — 3, 5).

11.

12.  Solve 22 =32 fora.

12.

13.  Find the midpoint of the line segment with endpoints ( — 2, 3)and (5, — 1).

13.

14. Find the z- and y-intercepts for the graph of 20z — 35y = 70.

14.

15. A pair of jeans costs $35.26 after taxes. If the tax rate is 8.5%, what was the price
of the jeans before taxes?

15.

Perform the indicated operations and write the answer in theform a + bi, wherea and b are
real.

16. Jﬁ(\/—_4—1) 7.

16. 17.
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Dugopolski's Precalculus Functions and Graphs 9

Chapter 1 Test -- Form E Name:

Multiple Choice: Choose the best answer for each of the following.

1.

Solvefor z: 2z 4+ = 1z +

[N
Ot

a —1 b. c. 5 d. £

(x4}

Write the slope-inter cept form of the equation of the linethrough ( — 1, 2) that
isperpendicular tothelinez + 3y = 4.

ay:?)x-i-% b. y=3x+5 C.y:—%:c-i-g d.y:—%x—g
.oy=2

Solvefor y: ~—35 = —2.

a —2r+38 b. 2 c. 8 d —2r—-1

The cost of atelevision set after taxesis $436. What isthe cost of the TV
beforetaxesif thetax rateis 9% ?

a $427 b. $363.16 c. $400 d. $518.84

On alonely stretch of highway in West Texas, Jacob sets histruck on cruise
and travelsto hiswork site, atrip which takes5 hours. At the end of the week,
on thetrip home, he travelsthe same distance, but hiscruise control isset at a
speed which is 15 mph faster since heisvery anxiousto get home. Thus, he
arrivesin just 4 hours. What is his speed on the trip home?

a. 75 mph b. 60 mph c. 90 mph d. 70 mph

Solvefor z: 222 —6 = 0.

V6 3
Solvefor y: 6y? — by = 6.
3 2 5+ /169 5-+iy/119
a 5173 b. 1, 11 C. 12 d. 1
Solvefor z: 2?2 = 4z.
a 4 b. £2,/z c. £2 d. 0,4
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10

10.

11.

12.

13.

14.

15.

16.

17.

Form 1E
Solvetheinequality: 2z —3 > 5and 5x + 2 < 32.
a (4,9] b. (4, ) U (—o0, 6] C. (—o00,6] d. (—o0,00)
Toreceivea C in amath course, an aver age between 70 and 80, inclusive, is
required. Leah hasscoresof 76, 82, and 87 on her first three math tests. After
thefourth test, she statesthat she now hasa C average. What istherange of

scores possible for her fourth test in order for that statement to be true?

a [0, 70] b. [70, 80] c. [35, 75] d. [60, 70]

Find the slope of the line passing through the points (— 3, —4) and (6, —9).

a — b. —

[$3] Ne)

ot
o
I
I
o
I
I

Find the midpoint of the line segment with endpoints (— 3, —4) and (6, — 9).

a (—4.5,25) b. —

Nel (o)

c. (1.5, —6.5) d. (0, —6)
Solvetheinequality: 5 — 3z > 14.

a (—o00, —3) U (2, x0) b. (-=3,00) c.(—00, — 13—1 d (—o0, —3)

Solvefor z: |z — 1| = 3.
a {4} b. { —4} c. {—4,4} d.{—2,4}
Find all solutions: z? + 2z — 3 = 0.

a {-1, 3} b. {—3, 1} c. {0,-1++/2} d {-1+£+/2}

Perform theindicated operations and simplify: (\/ -3+ 4) (\/ -3 1).

a —7+3iV/3 b. 5+ 3iy/3 c. —1+3vV/—-3 d —1+5i\/3

Perform theindicated operation and simplify: %
3. . . 7 1
a 1—52 b. — 1+ C. 7+1 dg—f—gl
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Dugopolski's Precalculus Functions and Graphs 11

Chapter 1 Test -- Form F Name:

Multiple Choice: Choose the best answer for each of the following.

1.

Solvefor z: 2z +

a —1 bh. — 2 c. 0 d 2

Write the slope-inter cept form of the equation of theline that goesthrough
(—2, 3) and isperpendicular tothelinex + 3y = 4.

ay=3r—3 b.y:3x+% C. y=3x+9 d.y:—%x%—g
.oy=3 _

Solvefor y: ~—5 = —2.

a fr+ 1 b. 3 C. —2z+47 d —2r—1

The cost of atelevision set after taxesis $324. What isthe cost of the TV
beforetaxesif thetax rateis8% ?

a $349.92 b. $300.00 c. $298.08 d. $264.00

The Walker family will all be attending a wedding out-of-town. Bettye and
Harold Walker leave a day early and arrivein the town wher e the wedding
will take placein 3.5 hours. Mary and Janie Walker leave the morning of the
wedding, drive an average of 10 milesper hour faster than their siblingsdid
the day before, and arrivein 3 hours. How far away was the town from the
Walker residence?

a. 165 miles b. 180 miles c. 60 miles d. 210 miles

Solvefor z: 2z2 — 10 = 0.

=
o
H_
e[S

a +/5 b. 5 c. +
Solvefor y: 6y% +y = 12.

11 —1 ++/289 —1 +£+/287

|
[\J [V}
[SUITN

Solvefor z: 22 = 9z.

a 0,9 b. +3\/z c. £3 d. 9
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10.

11.

12.

13.

14.

15.

16.

17.

Form 1F
Solvetheinequality: 3 —2z > 5and bx +2 > — 28.
a (—1,0) b. [-6, — 1) c. (-1,6)d.(—o0, —1) U (=6, c0)
ToreceiveaB in a math cour se, an average between 80 and 89, inclusive, is
required. Leah hasscoresof 76, 82, and 98 on her first three math tests. After
thefourth test, she statesthat she now hasa B average. What isthe range of

scores possiblefor her fourth test in order for that statement to be true?

a. [80, 89] b. [64, 100] c. [13.5, 23] d. [75, 95]

Find the slope of theline passing through the points (1, 1) and (£, 0).

1 3 5 5

a 3 b. — 5 C. 3 d — 3
Find the slope of thelinewhich isparallel tothelinez = %y + i.

4 5 5 5

Solvetheinequality: 5 <1 — 3z < 10.

a(ds] b |-%-3) o [-3-1)  d(-w iU |-300)

Solvefor z: |3z — 6| = 9.
a{-1} b. {5} c. {1, 5} d{-1,5}

Find all solutions: z% — 2z — 3 = 0.

a {-1 3} b. {-3, 1} c. {0,—14++2} d {-1+/2}
Perform theindicated operation and ssimplify: 32J:L..
a 2-1i b. 2 - C.2—i d 2 —3i

S
o
St
o
S

Perform theindicated operation and simplify: 4 (3z’2 + 4z').

a 3+4 b. —3—-4i c. —4-3 d —4+4+3:
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Dugopolski's Precalculus Functions and Graphs
Chapter Test Keys

CHAPTER 1.

Form A:

1 {2} 2.{+2} 3. {-3} 4. {3,3}

5 [—2,00) 6. (—o0, — 1)U (0, 00)

7. 8. 9.1 10. y= —3o+3

-6 -4 -2 / 6 -6 -4 -2 w 6
2k
/_ -4f

6- -6-

11. /34 12. 10 liters  13. 13inches 14. z = -2

c—4

15. disc=0, 1red solution 16. 5+ 12 17. 1 —1

Form B:

1 {1 2. {440} 3 {+4) 4 {-53)

5. (—1, ) 6. (3,7)

7. 8. 9. -3 10. y= —2z+6 11. /85

12. 6% quarts 13. 4 units by 5 units 14. y=-L

15. disc= — 36, O real solutions  16. 5¢ 17. — 141

Form C:

1. {5} 2.{—-17,3} 3. no solution 4. {- 3,3}
5. (—o0, 6] 6. (—o0, —2)U (3, )
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136 Chapter 1 Test Key

-4k

6L 26

10. y=3z+17 11. /101 12. 5liters 13. 7% 14. b=1la—-2
15. disc = — 180, 0 real solutions 16. & — i 17. 9+ 3i
Form D:

L{-2} 2{-L-4} 3a{-%% a{+V/6} 5 [-ix)6 (-5-1)

7. 8. 9. 2 10. y=32z—% 11 /85
V/ . A - : 6 -4 2 | 2 6
1 -7
12, 3 = 22 13, ZEVI3 14. (0, — 2),(3.5,0)
15. $32.50 16.2—4i  17. 1—i
Form E:

l.a 2b 3 a 4c¢c 5a 6.a 7.a 8.d
9.a 10.c 11. b 12. ¢ 13.d 14.d 15.b 16.a 17. b

Form F:
1.c 22c 3. ¢c 4b 5d 6.a 7.d 8. a
9b 10.b 11.c 12.b 13. ¢ 14.d 15. a 16. b 17. a
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